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‘The table below gives the amount of money spent on national health
care for every ten years from 1960 to 2000.

U.S. Health-Care Expenditures, 1960-2000
(i bilions of dollarg)

1960 1970 1980 1990 2000

26.7 734 245.8 696.0 1,299.5

Source: The Word Almanac Bk f Fats 20, New York,NY: Word Almanas Education Group,
Inc 2008

a. Was the amount of money spent on national health care a linear
function over time from 1960 to 20002 Explain how you could tell
without plotting the data.

b. What is the rate of change in health-care expenditures from 1960
to 19702 From 1970 to 19807 From 1980 to 19902 From 1990 to
20002 From 1960 to 20002 What does this suggest about the
probable shape of a plot of the data?
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Victoria got a job at her school as scorekeeper for a summer
basketball league. The job pays $450 for the summer and the league
plays on 25 nights. Some nights Victoria will have to get a substitute
for her job and give her pay for that night to the substitute.
a. What should Victoria pay a substitute for one night?
b. Use the letters n for nights a substitute works, S for pay to the
substitute, and E for Victoria’s total summer earnings.
i. Write a rule for calculating S as a function of n.

Write a rule for calculating E as a function of n.

c. Sketch graphs of the functions that relate total substitute pay
and Victoria’s total summer earnings to the number of nights
a substitute works. Compare the patterns in the two graphs.




